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APR 30 days
5 EAIR]&E (i EFEERE| BH| iR RETEE| RETH| ZMEM| ERR| AVE. B|AVE R[EAED| RILED|RIETE| MoTH| B REERE K& | &6
km| days km| days km %) km km km km km| HEHE % h h h
A # |sEoL 4405| 30 1 440.5 30 4200| 10.49%| 14.68| 14.68 95.3 95.3| 5359.4| 127.6% 56| 56| 600|MF HE | 47
* 2|F8 WV|-——- 416.8| 27 2 416.8 27 3600 11.58%| 15.44| 1544| 1209 120.9] 5071.1 140.9% 0 0 Bl FIE| 64
3|fE FEV|=m 3795) 30 3 379.5 30 3000 12.65%| 12.65| 12.65| 1329 132.9| 4617.3| 1539%| 53| 53| 400|FEZE i | 61|
4T BV|———o 3670 30 4 367.0 30 4800 7.65%| 12.23| 12.23| -27.5 -27.5| 4465.2 93.0% 0 0 1EZ FB | 64]
5|HY IR V|msE 3441 25 5 344.1 25 2400 14.34%| 13.76] 13.76| 146.8 146.8| 4186.6| 1744% 34| 34 Wig FE | 31)
6|#5AE |gmoL 304.2 15 6 304.2 15 3360 9.05%| 20.28| 20.28 28.0 28.0| 3701.1 110.2% 0 0 $hK #7) | 51
7|8 V|53E57 2900 23 7 290.0 23 3600 8.06%| 12.61| 12.61 -5.9 —-5.9] 3528.3 98.0% 0 0 BN B | 60]
8| X BV|azate 2484 21 8| 2484 21 2400| 10.35% 11.83| 11.83| 51.1 51.1] 3022.2| 1259%| 34| 34| 240|KE f—| 56
9| INRER V| LR e 2t 2258| 23 9 2258 23 2400 9.41% 9.82 9.82 28.5 285| 27472 1145%| 33| 33 P\ 3 61
0| BV|=@ 2217 27 10 221.7 27 1800) 12.32% 8.21 8.21 73.8 73.8| 2697.4| 1499%| 22| 22 @ B | 65]
1|¥ HV|EsmzEc 2124 24 11 212.4 24 2750 7.72% 8.85 8.85| —136 -13.6] 2584.2 940%| 31| 31| 365tk I 61
12| LIRS |sEOL 2040 27 12 204.0 27 1800) 11.33% 7.56 7.56 56.1 56.1| 2482.0| 137.9% 0 0 L3R B4 | 53
13| M Vimz 189.8] 20 13 189.8 20 3600 5.27% 9.49 9.49| —106.1| -106.1| 2309.2 64.1% 0 0| 400|ith B5F 42
R LN VALY 1720 30 14 1720 30 2000| 860%| 573| 573 7.6 7.6] 2092.7| 1046%| 20| 20| 220|¥ME 817 | 52
15| HAV|ms 166.2 15 15 166.2 15 2000 8.31%| 11.08] 11.08 1.8 1.8] 2022.1 101.1% 0 0 HE @F | 51
16| FFV|iR 153.0] 22 16 153.0 22 1200) 12.75% 6.95 6.95 54.4 54.4| 1861.5| 155.1% 0 0 R% £H| 85|
17|HPIE |gEOL 141.6 17 17 141.6 17 2000 7.08% 8.33 833 -22.8 -22.8| 1722.8 86.1% 0 0 He FFA| 57
18| SR V| ERS 1370 23| 1s] 1370] 23 1700 so06%| 596| 596] 27| 27| 16668 9s0s| o o SR i | 64|
19| ¥R V|5 127.8| 14 19 127.8 14 2000 6.39% 9.13 9.13| -36.6 —36.6] 1554.9 77.7% 0 0 FHERES| 58]
20| /NETEV |25 1240 20 20 124.0 20 1800 6.89% 6.20 6.20f -23.9 —23.9] 1508.7 83.8% 0 0 INREFEK| 56
21|F BV|x#s 106.6 11 21 106.6 11 1200 8.88% 9.69 9.69 8.0 8.0| 1297.0| 108.1%| 16| 16| 150|F& BR[| 72
2|IUA— |gEoL 105.4] 28 22 105.4 28 1200 8.78% 3.76 3.76 6.8 6.8] 1282.4| 106.9% 0 0 WHE —&| 65
2| AHEV|EHETS 994 8| 23 99.4 8 1200|  8.28%| 12.43| 1243 0.8 08| 1209.4| 10084 o o A# fEH | 63
24| ZEOL 93.1 23 24 93.1 23 800| 11.64% 4.05 4.05 273 27.3] 11327 1416%| 23] 23 80|F HX 72
25| BV|EDL 86.0| 14 25 86.0 14 1500 5.73% 6.14 6.14] -37.3 —-37.3| 1046.3 69.8% 9 9| 150|NiE ¥ 60
2| F |gEoL 83.0 7 26 83.0 7 1200 6.92%| 11.86] 11.86] —-156 -15.6/ 1009.8 842%| 10| 10| 140|BEF IEHE| 63|
27| $5KfE |gEEOL 81.0] 30 27 81.0] 30 1000 810%| 270| 270 1.2 -1.2| 9855 98.6%| 13| 13| 150[#6K fHA | 67
28|[f AV|EE 76.9 15 28| 76.9 15 1000 7.69% 5.13 5.13 -5.3 -5.3| 935.6 936%| 10| 10| 180|MAK Mz | 64
20|FHE |sEoL 749 6 29 749 6 1000 7.49%| 12.48| 1248 -7.3 -7.3] 9113 91.1% 0 0 FEH E—| 66
0| HV|EXocHE: 740 18 30 74.0 18 1200 6.17% 4.11 411] -246 -24.6/ 9003 750%) 13| 13 hE 64
3= E |sEoL 70.0 9 31 70.0 9 800 8.75% 7.78 7.78 42 42| 851.7| 106.5% 0 0 ZE § 65
2| TS |sEmoL 654| 9| 3 654| 9 1500) 436%| 727| 727| -579| -579| 7957| s30s] o o FhEHRY 63|
B[R H |[sEOL 62.1 9 33 62.1 9 1200 5.18% 6.90 6.90| -36.5 -36.5| 755.6 63.0% 13 13 Fif EHE| 68|
| SHEV|LE 60.9 15 34 60.9 15 366| 16.64% 4.06 4.06 30.8 30.8| 741.0] 2024% 0 0 S Eh| 67
35|F EV|Es 58.5 7 35 58.5 7 600 9.75% 8.36 8.36 9.2 92| 711.8] 1186% 0 0 R 85| 68
* 36| ;B FHH V| Teamea 54.1 10 36 541 10 600 9.02% 5.41 541 48 48| 6582 109.7% 0 0 BEHNMTF| T2
37| BV|EXxocks 53.1 10 37 53.1 10 1100 4.83% 5.31 531] -373 —37.3] 646.1 58.7% 6 6| 100|285 FIH | 64
B|FEE [sEOL 52.0 4 38| 52.0 4 800 6.50%| 13.00/ 13.00f -138 -13.8] 632.7 79.1% 0 0 5 £MB| 64
s9[# Il [gEoL 51.8] 11 39 51.8 11 650 7.97% 4.71 471 -1.6 -1.6] 630.2 97.0% 0 0 wil H#E [ 72)
0|5 REV|y=— 51.7 4 40 51.7 4 300 17.23%| 12.93| 12.93 27.0 27.0| 629.0] 209.7% 7 7 HR EE | 64
@K BEV|FE 460 11 41 46.0 11 600 7.67% 418 4.18 -3.3 -3.3] 559.7 93.3% 0 0 XIE Bihi| 74
2|ERE [sEoL 365 6] 4 365 6 1500) 243%| 6.08| 6.08| -868| -86.8| 4441| 296s| 6| 6 BR % | 59|
43| K BT |#EoL 32.9 5 43 32.9 5 600 5.48% 6.58 6.58| -16.4 -16.4] 4003 66.7% 11 11 KB RE | 64]
w|#l BV|LREHE 32.0 4 44 32.0 4 1000 3.20% 8.00 8.00] -50.2 -50.2| 389.3 38.9% 0 0 #s f2— | 56
5| 2FE |sEoL 270 3 45 27.0 3 500 5.40% 9.00 9.00| 141 -14.1| 3285 65.7% 3 3 2H #A| 52
46| /NEBE V| EBEiHe 15.8 3 46 15.8 3 500 3.16% 5.27 527 -253 -253| 192.2 38.4% 0 0 NEERRE)| 55)
47|3)Y  |BEOL 15.0 3 47 15.0 3 120 12.550%| 5.00 5.00 5.1 51| 1825| 1521% 26| 26| 240|3)LY V. 61
18|= ¥ |gEoL 12.8 2 48| 12.8 2 1000 1.28% 6.40 6.40| —69.4 -69.4] 155.7 15.6% 0 0 =% & | 45]
49| $K4E [sEOL 114 4] 4 114 4 360 317%| 285 285 -182| -182| 1387| 3854 o| o sk #8367
solf F |#EoL 9.0 3 50 9.0 3 200| 450%| 3.00| 300 -7.4 -7.4] 1095| 5484 of o BE & 80
51| S1EE  |sEoL 8.0 2 51 8.0 2 200 4.00%|  4.00 400 -84 -8.4 97.3 48.7% 0 0 =5 B 94
52|%  EV|smEms 00 o0 52 0.0 0 100 o000%| 000| 000f -82 -8.2 0.0 oo o of 20|FE BR[| 67
52l $AR1E |2EEOL 00| 0] =2 0.0 0 500| 000%| 000[ 000| -41.1| -41.1 0.0 00%| o of 1foo#hk | 65|
52| {EH 5T V| Teamea 4 0.0 0 52 0.0 0 700 0.00% 000] 0.00| -575| -57.5 0.0 0.0% 0 o tooliFEH FEEA| 75|
&t 6572 757 6572 757 79,506
Ty 1217 140 1217 140 14723
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BHE~<YATHEBMNIZY—IET BEFRIVERLTTSIL, APR 30 /365days  8.22%
atsmt| km |B5tE%] doys| ] kn | @mmE ] % | AVEE | km | AVER | km |BEtEH]  km
11A # 440.5(H H 30|76 2BV 4800|% "V 17.23%|#hKE 20. 28| 8h K% 20. 28| BV 146. 84
2188 v 416.8|F8 EV 30|M #H 4200|5 HIEV  16.64%|[78 LV 15. 44|78 UV 15 44|FF ZEV 132.92
Jlf EV  379.5|fE EV 30|78 UV 3600|# BV 14.34%|MH  H 14. 68| # 14. 68|78 WV 120. 91
Al BV 367.0|# EV 30 JIV 3600/ EV 12 75%|# BV 13.76|# BV  13.76|M H 95. 29
5l BV 344 1|8 KIE 30] M Vv 3600|1FF EV  12.65%|FBEE 13.00(FBE 13.00|8 MV 73.75
6[gpKRZE 304. 2| ILEH— 28[gFKE 3360|3)LY 12.50%(% BV 12.93|% B|V 12.93| EiRE 56. 05
T NIV 290.0(F LV 27|f ZEV 3000|/ MV 12.32%|FR EV 12.65|FE ZFEV 12.65|[F TV 54,37
8K BV 248.4|f BEV 27|1% HV 2750 F 11.64%[&E IV 12.61|5% NIV 12.61| KX BV 51.14
9|/ ARV 225.8| EIRE 27(#8 WV 2400|FF UV 11.58%|F8iE 12. 48| 57;& 12. 48| S HIEV 30. 82
10/ AV  221.7|% BV 25|k BV 2400l EIRE 11. 33% [ KRFHEV 12. 43| RFHEV 12 43|/NAERV 28. 54
Mk HV 212414 HV 241 1NiAERY 2400(H  H 10. 49%[7E EV 12. 23|17 BV 12. 238K 28. 04
12| E3RE 204. 0[5 NIV 23|¥y EV 20001k BV 10.35%|# F 11.86|#% ¢ 11.86] F 27.35
13| # vV 189. 8|/©#kEEV 23| AV 2000[F EV 9.75%[K BV 11.83| K BV 11.83|% RV 27.04
14{#y ZEV 1712 0|85 KV 23|AHIE 2000(/\#xgR V 9.41%( @AV 11.08/22 EAV 11.08|{F =V 9.18
15|88 @BV  166.2] F 23|FrEA RV 2000|85 K% 9. 05%[/ Mk vV 9. 82[/\#kE&V 9.82|FF BV 7.97
16|/ R ¥V 153.0|[f ¥V 221 MV 1800;EHHMIV 9.02%[FF BV 9.69|FF BV 9.69|# EV 7.62
17|HEFIE 141.6| KX BV 21{ L3RS 1800|FF BV 8.88% ith Vv 9.49] # Vv 9. 49{ILA— 6.77
18|#h KV  137.01 #H V 20/h#AEEV 1800 LI — 8. 18%|FTHRAV 9. 3[FHAERV 9.13[{3 LY 5.14
9[gAREV 127 8|/ HEEV 0|8 KMV 1700|= = 8. 75%| 2 Fr g 9. 00| 2 B2 9. 00;F/HMNV 4.78
20/ AV 124.0|f HV 18| #\VvV 1500|# BV 8.60%[#: HV 8.85|% HV 8.85|= = 4.25
201 &V 106.6|AHIE 17|51k 1500|8 HEV 8.31%[ ®EV 8.36|F ®EV 8.36| HV 1.82
22| lLH— 105. 4|85 K% 15| EREK 1500| RFHEV 8. 28%|AFIE 8. 33|AHIE 8. 33| KFEV 0.77
23| KFHEV 99.4( HV 15|[/8 BV 1200|&KIE 8.10% A EV 8.21(AA MV 8. 21|18 KIE -1.19
24| F 93. 1 AV 15[ BV 1200|185 KV 8.06%|#1 BV 8.00(#f BV 8.00]# U -1.62
25(N BV 86. 0[S HIEV 15| IUEA— 1200(& IV 8.06%|= = 1.78|= = 7. 18| Ki#EV -2.73
26(@ T 83.0[FERV 14| RFEV 1200{# b 7.97%| ERE 7.56| EIRE 7.56|k EV -3.32
27{#5 KB 81.0(N BV 14|k F 1200({#% HV 1. 72%| T8 1. 21|31 18 1.21| &RV -5.29
28| AV 16.9|FF BV 11 BV 1200/ AV 1.69%|R" VvV 6.95|[F EHV 6.950 JIIV -5. 89
20|F Sk 74.9|1% WL 1w H# 1200| K &EV 1.67%|3% 3 6.90|3% H 6. 90|58 -7.29
0(r HV 74.0| X BV 112 BV 1100|7E€ EV 7.65%| K HT 6.58| Kk Hr 6.58[lR £ -7.44
3= = 10. 0PEHMNV 10|#5KIE 1000|F 5 7.49% = B 6.40|= %5 6.40|8 EV -8.22
32|FIEE 65.4|2 BV 10|/ AV 1000|HIE 7.08%|/MAEEV 6. 20|/NHREEV 6. 20| 5B -8.44
33z H 62.1|= = 9|8t 1000(#% ¢ 6.92% | BV 6. 14| BV 6. 14|48 HV -13. 63
M| SHIEV 60. 9| F1E18 9l BV 1000[/MAEEV 6. 89% | E R 6. 08| E RIK 6.08|FEE -13.75
3BF EV 58.5[% H 9= % 1000|FE % 6. 50% | ER KV 5. 96[8 KV 5. 96| 2572 -14.10
36[[BEBHMNV 54 1[K¥HEV 8l F 800[FTARV 6.39%|¥ EV 5. 73[# EV 5. 13|k F -15. 63
37E BV 53. 1 F 1= = 800[h EFV 6. 179 EH MV 5. MiBHMV 5. 41|k Hr -16. 42
B[FEE 52. 0| ®V 11FEE 800(N BV 5. 13%|28 BV 5.3112 BV 5. 31|85 KR -18.19
39{# i 51. 8|8t 6;EHZYV  T00|KX HT 5. 48%|/hNEE BBV 5. 27[/h BBV 5. 27|AHIE -22.78
40| BV 51 7|ERK 6{# 1L 6502 Frf2 5. 40%|@ AV 5.13|[@ AV 5. 13|/ EV -23.95
411K gV 46.0(KX HT 5|fF ®EV 600 ith Vv 5.27%3ILY 5.00{3 /LY 5.00|0 HV -24. 63
D|EREK 36.5|FB%E ABEHEMNV  600|3 FH 5.18%|# 1l 4. 71(# 4. T1INEEV -25.30
43|k HT 32.9(% BV 4K EV 600|122 BV 4.83%|K &V 4. 18K &V 4. 18| EV -217.52
4488 BV 32.0(#8 BV 41K HT 600|R E 4.50%( BV 4.1 HV 4. 11{x% H# -36. 53
45| 25 27. 0|85 A48 4| 254 500[F1E# 4. 36%|SHIEV 4. 06(SHIEV 4. 06(FTARYV -36. 58
46|/hNEEEV 15. 8| 2 F g [/IhEEV  500|EHEE 4.00% 4.05] 4.05|N BV -37.29
A47{3 L5 15. 0[/hEE BV 3|ERK1E 500/ BV 3. 200 SEE 4.00([58E 4.00(2 BV -37. 31
181= % 12.8|13 LY |SHIEV 366[EHAR 3. 17% LA — 3. 76| ILE— 3. 768 R1E -41.10
49|85 KR 11.4|R £ 3|#R KB 360[/hNEEEV 3.16%|R E 3.00|'R £ 3.001#8 &V -50. 19
50|R E 9.0|1= ¥ 21% ®|Vv  300|EREK 2. 43%|$R KRR 2. 85| 8 ARHR 2. 85iBHRYV -57.53
51{EBE 8.0[=BE 2R E 200|1= % 1. 28%| 5 KB 2. 70|85 KB 2. 70|F1E# -57. 89
52| BHEV EHEY SEE 200 EHEV EHEY EHEY = 5B -69. 39
53| g8 kiE TN ALy 120(gkiE skl TN EEE -86.79
s EV 2 EV a2 EBV 100l EV =2 EV =5 EV o v -106.09
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